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(2) 273 kg
(3) 433 kg
(@) 103 kg

A particle is moving in a circular path of
radius a under the action of an attractive

potential U= — —ki . lts total energy is :
21

(2) 273 kg
(3) 433 kg
(4) 103 kg
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inertia of the arrangement about the axis S 194G PR AR Aol 23 2AEEIA o Seil
normal to the plane and passing through 2ULSHEL

the point P is :
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A-particle is moving with a unitorm speed
in a circular orbit of radius R in a central
force inversely proportional to the ntb
vower of R. If the period of rotation of the
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10.

Two moles of an ideal monoatomic gas
occupies a volume V at 27°C. The gas
expands adiabatically to a volume 2 V.
Calculate (a) the final temperature of the

10.
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33.

Avagadro number =b.UZ X ILF gm mole  *)

(1) 64 N/m
(2) 71 N/m
(3) 22N/m
(4) 55 N/m

A granite rod of 60 cm length is clamped
at its middle point and is set into
longitudinal vibrations. The density of
granite is 2.7 % 10% kg/m? and its Young's

13.

=0ULX IU= gm mole *)

(1) 64 N/m
(2) 71 N/m
(3) 22N/m
(4) 5.5 N/m

60 cm dotts) dadl vl Azl |l Al
ey wondl selon s34l dul waa
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15.

A parallel plate capacitor of capacitance
90 pF is connected to a battery of emf

20 V. If a dielectric material of dielectric

constant K = % is inserted between the

plates, the n{agni‘mde of the induced
charge will be :

90 pF s/zd, HuRsdl Szl s xR w2
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18.

AIE LULIELIEU 11 palanc auiuas a e
resistor of 10 {1. The internal resistances of
the two batteries are 1 () and 2 Q
respectively. The voltage across the load
lies between ¢

(1) 116 Vand 117V

(). 115V and 11.6 V

(3) . 114Vand N5V

(4) 11.7Vand 118V

An electron, a proton and an alpha

18.
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(1) 116V 24117 V
(2) 1N5Vad116V
(3) 114V 24115V
(4) 117V = 118V
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20. - For an RLC circuit driven with voltage of | 20. 54 [ai ez . 2 2t W, = TE—E

e A ]' .
amplitude v, and frequency o, = Jic el o] 2adl (sdbell) RLC ulzumu
the current exibits resonance. The quality Helldg 2-i-llE gald &, SRR “s Q
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Unpolarized light of intensity I passes
through an ideal polarizer A. Another
identical polarizer B is placed behind A.

The intensity of light beyond B is found to

|
be —.

Now another identical polarizer C
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24.

An electron from various excited states of
hydrogen atom emit radiation to come to
the ground state. Let A, A, be the
de Broglie wavelength of the electron i
the n'" state and the ground state
respectively. Let A, be the wavelength of
the emitted photon in the transition from
the n'h state to the ground state. For large

n. (A. B are constants)

24,
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27.

(2) (-28, -89)
(3) (0, 0)
4) (07

The reading of the ammeter for a silicon
diode in the given circuit s :

200 €2
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(2) (-28, -89)
(3) (0.0
(4) (0 1)
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30,

the wire. Find the internal resistance of
the cell.

(1) 10
2) 150
@) 20
@) 250

On interchanging the resistances, the
balance point of a meter bridge shifts to
the left bv 10 cm. The resistance of their

30.
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32, Which type of “defect’ has the presence of | 32. 54l Wil &l (welll) widuidly vl

cations in the interstitial sites ? e (S2ie) Al eesl u s 7
(1) Schottky defect - (1) zilesl sld

(2) Vacancy defect (2) sl wld

(3) Frenkel defect (3) 3-sd @A

(4) Metal deficiency defect (4) e Glory &4

33. According to molecular orbital theory, | 33, suedly sas Fraiaq 2uae, -2l 2adamidl
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35.

(4) Aand D

The combustion of benzene (1) gives CO,(g)
and H,O(1). Given that heat of combustion
of benzene at constant volume is
—-3263.9 k] mol=7 at 25° C; heat of
combustion (in k] mol 1) of benzene at

constant pressure will be :

35.

(4) A=4D

Seaflete] (1) Bt 53t CO,(g) wirt HyO(l) 2k
9. 25° C Wr, w5t oradldddl £e-Ge
~3263.9 k] mol ! 2udd . 2:n gedl
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38.

{1y Bxin-*
(2) w3 x10-20
(3) 6x10-2
(4) 5x10°1°

An aqueous solution contains an unknown
concentration of Ba®*. When 50 mL of a
1 M solution of Na,SO, is added, BaSO,

el

38.

(1) &xi0~®
(2) 3x10-2
(3) 6x10-21
(4) 5x10 12

@5 eredld greeml Ba? t el sigal saelldl el
seiz i 50 mL 1 M NajSO, 1 gieu Gz,
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41.

diborane ?

(Atomic weight of B=10.8 u)
(1) 6.4 hours

(2) 0.8 hours

(3) 3.2 hours

(4) 1.6 hours

The recommended concentration of |

41.

(waHelly oz B=10.8 u)
(1) 6.4 54
(2) 0.8 ses
(3) 32545

(4) 16 541
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(1) +3, +4,and +6 (1) +3 +4 =4 +6

+3, 42, and +4| |

48. The compound that does not produce | 48,

eipllor-t s o7 @il [t o4 -1glort 4 Gt




P !

(D)

(IV)

Two isomers are produced if the

reactant complex ion is a as-isomer.

Two isomers are produced if the
reactant complex ion is a trans-

isomer.

Only one isomer is produced if the
reactant complex ion is a trans-
isomer.

Only one 1somer is produced if the

)

(1)

(L)

(V)
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53. Which of the following compounds will

be suitable for Kjeldahl's method for
nilrogen estimation ?
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present in human blood is (pK,, eldl (pK,, déldn=6.0)
Histidine = 6.0)




58. The increasing order of basicity of the | 58. 2 2l teler-il-dl ABsciAl 2wl s WAL
following compounds is :
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2| Jx =3+ Jx (Jx —6)+6=0}. ThenS:
(1) 15 an emply set.

(2) contains exactly one element.

(3) contains exactly two elements.

(4) contains exactly four elements.

63. If a, p € C are the distinct roots, of the

s} 1 S L U

2 Jx =3+ Jx(Jx —6)+6=0} L S :
(1) vl s 8.

(2) 55t ls o L2s G B,

(3) 35l “ov 25l G B

(4) 55t AR sy uzsl QAL D,
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66.

is equal to :

(1) =10
(2 10
() —30
4) 30

From 6 different novels and 3 different
dictionaries, 4 novels and 1 dictionary are

to be selected and arranged in a row on a |

66.

(1 =10
2) 10
3) -30
4) 30
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69. Let A be the sum of the first 20 terms and | 69. Al |
B be the sum of the first 40 terms of the | 1242224324242+ 524 2:624 ...




72,
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If the curves y?>=6x, 922+by?=16
intersect each other at right angles, then
the value of b is :

72.

2) {0}
3)  Aw}
(4) {0, =l

o A5l y2=6x, 922 +by?=16 s ollea-
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[ sin” x cos’x
."(sin.sx +cos xsin” @

ysin
is equa I'to :

: 2 5.42
X+sIN"“xcos 1 +cos x)

-
——— +C
(1) 3(1+tan3x)+

=
et
@) 3(1+tan3.r)+

dx

; 2
sin“ x cos™x
5 g . ;
(sin"x+cos xsin“x+sin

3 2
XCo8 " x+cos

5

x)

2

dx



76.

Let g(x)=cos x%, f(x)= Jr, and
@, B (& < B) be the roots of the quadratic
equation 18x2—9mx+w2>=0. Then the
area (in sq. units) bounded by the curve
y=(gof)(x) and the lines x=a, x=§ and

y=0,1s :

m 5(E-1)

76.

gl 5 gx)=cosx?, f(x)=x, =
a, B (o< B) Len aallszt 1827 — 97x + 7 =0
ol oller 6. cdl 45 y=(gof)(x) U Tl 1 =,
r=P 2 y=0 glal 2yt NEUA HAZU
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78.

A straight line through a fixed point (2, 3)
intersects the coordinate axes at distinct
points P and Q. If O is the origin and the

rectangle OPRQ is completed, then the |

locus of Ris :

78.

(4) -
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@) 195
@) 185
(3) 85
(4) 95

Tangent and normal are drawn at

P(16, 16) on the parabola i?=16x, which |

intersect the axis of the parabola at A and
B, respectively. If C is the centre of the

81,

(1) 195

(2) 185
(3) 85
(4) 95
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The length of the projection of the line
segment joining the points (5, —1, 4) and
{4, =1, 3) on the plane, x+y+:=7is:

84.

(2)

(3)
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ol - 8-
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86.

A bag contains 4 red and 6 black balls. A
ball is drawn at random from the bag, its
colour is observed and this ball along with
two additional balls of the same colour are
returned to the bag. If now a ball is drawn
at random from the bag, then the
probability that this drawn ball is red, is :

86.
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B. On completion of the test, the candidates must hand
over the Answer Sheet to the Invigilator on duty in the
Room/Hall. However, the candidates are allowed to
take away this Test Booklet with them.

9. Each candidate must show on demand his/her Admit |

Card to the Invigilator.

10. No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her
seal.

11. The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty and sign the Attendance Sheet
again. Cases where a candidate has not signed the
Attendance Sheet second time will be deemed not to
have handed over the Answer Sheet and dealt with as
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